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e ��� ��������#�'
�#���� 0.05 
n    ��� 
 �����#���+������� 231 /�	��% 
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�������	�%�����"#������1�� (PROPCON) 147 147x231/545 = 62 
/�	��� (SERVICE) 94 94x231/545 = 40 
�	��1���+������� (INDUS) 82 82x231/545 = 35 
����	
���
�	� (FINCIAL) 59 59x231/545 =25 

��+�"#���+������������ (AGRO) 49 49x231/545 = 21 
�	��1���$H��/�	H�� (CONSUMP) 42 42x231/545 = 18 

%�H�H#�( (TECH) 39 39x231/545 = 16 
%������� (RESOURC) 33 33x231/545 = 14 
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  2.   � �)1��I# Accruals component +���	�( WCA "#��	�( NOA ���	
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$3�+��� ���' (Fixed variable) ����"+�+���)��������� �!�%(���'�/���� ���V 0.05 H'�&41�-	+	 
F-test (One - Way Analysis of Variance : ANOVA) 
  3.  � �)1��I# Accruals component +���	�( WCA "#��	�( NOA ���	
��������
������������'1�����$���	%�	z���������� (Correlation Coefficient) ����	
������������������
�������+��"$�$U

��'1��������� �!���/$���	%�	���&����' �
�	���� H'�&41�-	+	����������
�(���
��� (Pearson�s Product Moment Correlation)  
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